

$$t_{10} - t_v = 12$$

$$t_{10} = t_v + 12$$

$$t_{10} \neq t_v + 12 \Rightarrow d = 12$$

$$t_9 = t_1 + \omega d$$

$$t_9 - t_1 = \omega d$$

$$(t_9 - t_1 = 12)$$

(2)

6

$$t_r = v$$

$$t_{11} = 10$$

$$t_9 = t_r + 12$$

$$10 = v + 12$$

$$d = 12$$

$$t_r = a_1 + 12$$

$$11 = r + 12$$

$$t_9 = a_1 + 12 = 10 = a_1 + 11 \Rightarrow a_1 = 12 \quad t_r = 11$$



$$b_n = A_{n-1}$$

(2)

7

$$t_n = \frac{1}{a}, \frac{1}{v}, \frac{1}{a}, \frac{1}{v}, \dots$$

$$c_1 = 12 - 12$$

$$c_2 = 12 + 12$$

$$t_n = \frac{12 - 12}{12 + 12}$$

$$\frac{12 - 12}{12 + 12} < \frac{12}{12}$$

$$12 - 12 < 12 + 12$$

$$12 < 12 \quad n < 12$$

(2)

8

$$t_n = 12, 12, 12, 12, 12$$

$$12A = 12$$

$$A = 1, 12$$

$$-1, 12 + Bn$$

$$-1, 12 + B = 12$$

$$B = 1, 12$$

$$12A + 12B = 12, 12 + 12, 12, 12, 12$$

(2)

9

$$t_r = 12$$

$$t_f = 12$$

$$t_9 = t_r + 12$$

$$12 = 12 + 12$$

$$d = 12$$

$$t_r = t_1 + d \Rightarrow t_1 = t_r - d = 12$$

$$n^2 - n - 12 = an + 12$$

$$n^2 - 12n = 12 \Rightarrow n = 12$$

$$a_n = an + 12$$

$$an^2 + bn + c$$

$$c = -12$$

$$12a = 12$$

$$a = 1$$

$$n^2 + bn - 12$$

$$1 + b - 12 = -12$$

$$(n^2 - 12n - 12)b = -12$$

(2)

10